Racines Cubiques (F)

36 859

15 625

512

10 648

2197

327 000

17 576

J512

34096

332 768

Trouvez la racine cubique de chaque nombre suivant.

= J13824 =

= 29791 =

- Y5096 -

= d12167 =

= 39 261 =

= 1728 =

= 31331 =

= J19683 =

= J12167 =

35832
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1728

327 000

321952

31331

17576
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Racines Cubiques (F) Solutions

36 859

15 625

512

10 648

2197

327 000

17 576

J512

34096

332 768

Trouvez la racine cubique de chaque nombre suivant.

19 J13824 =24
25 29791 =31
8 /4 096 =16
22 J12167 =23
13 /9261 =21
30 27 =3

26 1728 =12
8 1331 =11
16 J19683 =27
32 J12167 =23
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